Tomahawk Parts List

SCHO007SC (satin Chrome)

S

SCH007SC  Front Wheel (Satin Chrome/2pcs/Tomahawk)
SCHO008SC  Rear Wheel (Satin Chrome/2pcs/Tomahawk) ) ¥ RA—JU(¥770~LAvEAN IR F~7)
SCT001MB  Front Tire (Medium/2pcs/Scorpion 2014) TAVMAY (ETATLNAT—ER 2014)
SCT002MB  Rear Tire (Medium/2pcsiwith Inner/Scorpion 2014) 1J444F (374 7LANA Y —fH/AT~E4> 2014)
LA43 5.8mm Ball End (12pcs) A=IVIVF58¢(12M)

UMB12 Diff Shaft (2pcs/ULTIMA SC) 77Y% 7 QAJULTIMA SC)

TN =T /I0- LRy EINIRE=))

Tomahawk Option Parts List

SCH001CM / BK/SC SCH002CM / BK/ SC

== CM (Shiny Chrome) CM (Shiny Chrome)
N BK (Black) BK (Black)
SC (Satin Chrome) A SC (Satin Chrome)

x2pcs

SCHO003BK/SC/Y SCH004BK/SC/Y

BK (Black) BK (Black)
SC (Satin Chrome) SC (Satin Chrome)
Y (Yellow) Y (Yellow)

SCH006W /BK /SC

W (White) W (White)
BK (Black) BK (Black)
SC (Satin Chrome) SC (Satin Chrome)
x2pcs
For 2.2inch Rear Tire
Need SCW020

S

S (Soft)
M (Medium)

SCT001SB / MB SCT002SB (Soft)
= 5 < n 1\\

® x2pcs

H (Hard)
M (Medium)
S (Soft)
® x2pcs ® x2pcs

SCHO01CM  Front Wheel (Shiny Chrome/2pcs/Scorpion 2014) 70/ bRA—)b (70— LAyFANAT-EF Y 2014)

SCHO01BK  Front Wheel (Blacki2pcs/Scorpion 2014) 70V MRA—)V(TZY 72 NAT—EF 2014)
SCHO001SC  Front Wheel (Satin Chrome/2pcs/Scorpion 2014) 70/ MiA—Jb (770~ LAyF2NAI-EAY 2014)
SCHO02CM  Rear Wheel (Shiny Chrome/2pcs/Scorpion 2014) )74 =l (90— LAyFANAI—EF> 2014)
SCHO002BK  Rear Wheel (Black/2pcs/Scorpion 2014) VY RA—=IV(TZvIRNAD—E X 2014)
SCHO002SC  Rear Wheel (Satin Chromef2pcs/Scorpion 2014) Ui =)L (7> 0—LAvFNAT-EFY 2014)
SCHO03BK ~ Front Wheel (Blacki2pcs/BEETLE 2014) 7OV MRA—IV (T Zv7 2N/ E—1) 2014)
SCHO003SC  Front Wheel (Satin Chrome/2pcs/BEETLE 2014) 70/ M~V (7 //0—LAyFNE—MY 2014)
SCHO03Y  Front Wheel (Yellow/2pcs/BEETLE2014) 70V MRA—)b (A ZO—2A/E—ML2014)
SCHO04BK  Rear Wheel (Black/2pcs/BEETLE 2014) VY RA—IV (TS9N E—V2014)
SCH004SC  Rear Wheel (Satin Chrome/2pcs/BEETLE 2014) 1)¥ K4 =)L (B770-LAvF2ME—R 2014)
SCH004Y  Rear Wheel (Yellow/2pcs/BEETLE 2014)  J7RA— )L (A TO—/2A/E—F) 2014)
SCHO05W 2.2 Front Wheel (2pcs/White/Scorpion 2014) 224 VFR 707 MA =V QAE7A NAT-EAY 2014)
SCHO05BK 2.2 Front Wheel (2pcs/Black/Scorpion 2014) 224 VF 70 M=V QAT Zv9/A1- K4 2014)
SCHO005SC 2.2 Front Wheel (2pcs/Satin Chrome/Scorpion 2014) - 224 V8 707 M =Ib QA7 /70-LryHAI-E 4y 01
SCHO0BW 2.2 Rear Wheel (2pcs/White/Scorpion 2014) 224 VF B iA=L QA/RTIA MAI—E74> 2014)
SCHO06BK 2.2 Rear Wheel (2pcs/Black/Scorpion 2014) 224V FB Yk —IV QAT 799/A3—EF> 2014)
SCHO06SC 2.2 Rear Wheel (2pcs/Satin Chrome/Scorpion 2014) - 224 FB A=V QA 7/70-LAyHAI-EFY 2014)

SCHOO7W  Front Wheel (White/2pcs/Tomahawk) TV MRA—=IV (R4 M2 IR F—2)
SCH008W  Rear Wheel (White/2pcs/Tomahawk) DY RA—=IV(RIAMAINF—Y)
SCT001SB  Front Tire (Soft/2pcs/Scorpion 2014) TOVAY (VTN AT—EA 2014)

SCT001MB  Front Tire (Medium/2pcs/Scorpion 2014) IOV (27T LRNADI—EFY 2014)

SCT002SB  Rear Tire (Soft/2pcsfwith Inner/Scorpion 2014) 1) ¥24 (V7 MIAA VT —13/AD—EA> 2014)
SCTO03H  Front Tire Hard/2WD/2.2inch TOY A IN—=R2WD2214 >V F
SCT003M  Front Tire Medium/2WD/2.2inch TOYNAY ZTATL2WD224VF
SCT003S  Front Tire Soft’2WD/2.2inch TOVRAY T NWD224 >V F

% FOR JAPANESE MARKET ONLY.

35



Tomahawk Option Parts List
SCWO001

x2pcs HD7075

SCW002 SCW003

B For HG Shock B
X2pcs Nut M3 x2pcs ) Nut M3 x2pcs
x2pcs
o1 P ©f
Nylon Nut M3 x2pcs Nylon Nut M3 x2pcs
(] (o
CAP M2.6x8mm x2pcs CAP M2.6x8mm x2pcs
(oo [ (oo (mmm
BH M3x15mm x2pcs CAP M2.6x12mm x2pcs | | BH M3x18mm x2pcs CAP M2.6x12mm x2pcs

FH M3x8mm x4pcs FH M3x15mm x4pcs
SCW006 SCWO007

For HG Shock

(oo ©H (s ©B8

BH M3x8mm x3pcs Nut M3 x2pcs BH M3x8mm x3pcs Nut M3 x2pcs
(umnnm ©H (e 2]

BH M3x15mm x2pcs  Nylon Nut M3 x2pcs BH M3x15mm x2pcs ~ Nylon Nut M3 x2pcs

SCWO008

[ oo [ oo
FHM3x8mm ~ FHM3x12mm  FHM3x15mm
x5pcs x2pcs x4pcs

HG Shock

Need

SCW003 / SC251

SCW007 / SC252
SCW001 Hard Main Chassis Rail (7075/Scorpion 2014)  \—R XA+ 3—L =)L (7075/A1— 7> 2014)
SCW002  Carbon Front Shock Stay (2pcs/Scorpion 2014) A—HR>Y70Y/399A7—QNAI-EF 2014)
SCWO003  Carbon Front Shock Stay (HG Shocki2pcs/Soorpion 2014) - HGY/2w8—y 700 ka3 7~ QARI-E 4 2014
SCW005  Carbon Rear Sus Plate (Scorpion 2014) H—ARUTHRTL—MRI—-EF> 2014)
SCW006  Carbon Rear Shock Stay (Scorpion 2014)  A—HR/)7YavyA7—(AI—KEF> 2014)
SCWO007  Carbon Rear Shock Stay (HG Shock/Scorpion 2014)  HG/3y B~/ 7Y/3yIA7—(Ra—E4 2014)
SCW008  Carbon Gear Box Mount (Scorpion 2014)  A—RVF7RYIAR TV MAO—EH> 2014)
SCW012  Universal Swing Shaft (2pcs/Scorpion 2014)  1Z/\—HIVAA 72+ 7 M QA/AD—E > 2014)
SCWO013  HG Shock Set (4pcs/Scorpion 2014) AI-EAVHGY 3ty MANZI—EAY 2014)

36

SCW015 SCWO016

BH M3x8mm x6pcs  FH M3x10mm x2pcs
'HHHHH\H\HHHHHHHHHHHHHHHHH Bﬂ
BH M3x25mm x1pcs Nylon Nut M3 x3pcs

Light Bucket Set FH M3x8mm x2pcs
SCW020

2.2inch
From SCHO005

SCW022

Long W/B Rear Plate Set

2]
(©)mm x9pcs () |mmmmm x4pcs  (um x2pcs
FH M3x8mm FH M3x15mm BH M3x5mm
SCwWo023 SCW028
For SCT002 Metal

SCW015  Light Bucket Compatble Roll Cage Set (Scopion 2014) - 54 M Vry MiSO— IV =Yty b (RD—E 4 2014)
SCW016  HG Wing Stay Set (Scorpion 2014) BALTA VT AT A (Ra—EF> 2014)
SCWO017  Light Bucket Set (2pcs/Scorpion 2014) A4 My ey b QAAD—E A 2014)
SCW020  Hex Drive Washer Set (2pcs/Scorpion 2014) HEX FZ477vv—tyt QA/ZAI—E4> 2014)
SCW022  Long W/B Rear Plate Set (273mmiCarbon) 054 —bA=A7 7L~k QBmmiA—1Y)
SCW023  Mold Inner Sponge (Hard/Scorpion 2014)  E—JURA Y F—=ZARVY (1\—F/RA-EF> 2014)
SCW024  Carbon Upper Deck (Tomahawk) H=RIT7vIN=TvF

SCW025  Carbon ST Servo Plate (Tomahawk) H—R/STH—RTL—h

SCW028  Metal Servo Saver (Scorpion) AZIH—=REAN—RA-EFY)

% FOR JAPANESE MARKET ONLY.



Tomahawk Option Parts List

Brushless Motor
R246-8584

for
Brushless
Motor

SCW029 SCW030

Long W/B Hard Anodized 7075T6 | | Hard 7075T6
Anodized
a)

Long W/B

©(m ( x2pcs  (©))mmm FH M3x12mm  x4pcs

Savt g —4—7)L 210mm
Silicone Sensor Cable 210mm

37051B

for
Brushless
Motor

(MAX13.5Turn)

FAT202S

® x2pcs

2.2inch
VY RAY QAA > F—)
Rear Tire (2pcs/with Inner)

LA43R/H

R (Red)
H (Hard)

LR 2408 ESC(TFY L AF/MAX13559—>)
LE MANS 240S Brushless Motor 13.5T

Brushed Motor

Hard Type
PNGS4828 /| PNGS4831
Only Fit 28T and 31T only
il
Steel Pinion Gear SS M3x3mm
PNGS4828 28T 1/48 Pintch ~ PNGS4831 31T 1/48 Pintch Ball Diff

OT252BK/GR/OR/R/W /Y BESCE
GR  Peppermint Green
WIDE TYPE OR  Orange
R Red
w White
Y Yellow
© ©

92411 ] 97054-2B

W] [o Tumom ., . x2pcs
Titanium R246-8584  Silicone Sensor Cable 210mm A= =711 210mm
37031 LE MANS 240S MOTOR (Brushless/19.5Tum)  JUX> 2405 E—4— (75 LR /1954—>)
92417 370518 LE MANS 2408 ESC (for BrushlessMAX13.5Tum) /<> 240S ESC(753/ L ABB/MAX13.5%—>)
37021 Le Mans 490 MOTOR (Brushed/30Turn) ~ Le Mans 490E—4%—(753//302—>)
82145 EP Starter Pack Plus EPRA—Z—I\YIT A
(IO I X2pCS 82147 Syncro 2.4GHz Tx/Rx Set (W/Gyro) Syncro 24GHz EZ{EkEE Y b (U v ORE)
o I Titanium P for Ssgv?/g?‘; 82245 60A Brushed ESC KSH KA060-91W KA60-91W 753 E—2—F BAKESC60A ST 54
SCW029  HD Rear Sus Plate W/B 273mm (7075 Turbo Scorpion) HD 'J774f A 7L/—MW/B 273mm (7075 2—RA1—E4Y)
SCW030  HD Gearl Box Mount W/B 2{3mm (7075 Turbo Scorpion) - HD F+7Ry 7 A% MW/B 273mm (7075 A~ HA0-E4Y) X — R —ERES LT WL Y AN D £
FAT202S  Rear Tire/Soft/2pcs (Dirt Hog) DA ERUVINIIN ZOEA. KB — Y EENTASNTNES
Y <, “~ [=1N =) ja[=) Al )
LA43R 5.8mm Ball End (Red / 12pcs) R—=IVIVR58¢ (LYFA2A) Note that some parts are not sold as spare parts!
LA43H Ball End (5.8mm/Hard/12pcs) A=)V R G8mm/\—F/12A) P pare parts: = Ol
PNGS4828  Steel Pinion Gear (28T) 1/48 Pitch RF—IVEZAYEY 8T) 1/48C 7 ¥ ZRT AT 3 = Y ERREWEBS A N & 2B 7S 1,
PNGS4831  Steel Pinion Gear (31T) 1/48 Pitch AF—IVEZFVF I 1/48E Y F Please see the website for spare & option parts prices
UMW602  Ball Diff Set (Utima SC/DBIRBIRT) H—)b7 74 (ULTIMA SC/DB/RBS/RTS) P plion parts prices.
OT252BK  Wing (Black/Javelin) A (TZ99/T0NIY) www.kyosho.com [=]}
OT252GR  Wing (Paper mint Green/Javelin) IAVYG RN=Z M=%\ Y)
OT2520R  Wing (Orange/Javelin) TAVG FLIIwN)Y)
OT252R  Wing (Red/Javelin) G4V Ly RIDwN)Y)
OT252W  Wing (White/Javelin) IAVY (RN )
0T252Y  Wing (YellowiJavelin) DAV A TA~/TwN)Y)
92411 Titanium Adjust Rod 30mm FAVTIvAAYEF 30mm
92417 Titanium Adjust Rod 68mm FRYTIvA MY R 68mm
9705428 LED Light Unit (95/2 Bulbs/L=400/Clear) ~ LEDZA( b= I (O5/24T/L=400/7) 7 )

% FOR JAPANESE MARKET ONLY.

37



	P001 Tomahawk_out
	P002 Tomahawk_out
	P003 Tomahawk_out
	P004 Tomahawk_out
	P005 Tomahawk_out
	P006 Tomahawk_out
	P007 Tomahawk_out
	P008 Tomahawk_out
	P009 Tomahawk_out
	P010 Tomahawk_out
	P011 Tomahawk_out
	P012 Tomahawk_out
	P013 Tomahawk_out
	P014 Tomahawk_out
	P015 Tomahawk_out
	P016 Tomahawk_out
	P017 Tomahawk_out
	P018 Tomahawk_out
	P019 Tomahawk_out
	P020 Tomahawk_out
	P021 Tomahawk_out
	P022 Tomahawk_out
	P023 Tomahawk_out
	P024 Tomahawk_out
	P025 Tomahawk_out
	P026 Tomahawk_out
	P027 Tomahawk_out
	P028-029 Tomahawk EX_out
	P030 Tomahawk EX_out
	P031 Tomahawk EX_out
	P032 Tomahawk PL_out
	P033 Tomahawk PL_out
	P034 Tomahawk PL_out
	P035 Tomahawk Option Page_out
	P036 Tomahawk Option Page_out
	P037 Tomahawk Option Page_out
	P038 kounyuu_out
	P039 FAX_out
	P040 Tomahawk_out



